

SECTION 5.4

TEAM: C.A.M.

#12

Find the general indefinite integral

$$\int (x^2 + 1 + \frac{1}{x^2+1}) dx$$

$$= \int x^2 dx + \int dx + \int \frac{1}{x^2+1} dx$$

$$= \frac{1}{3} x^3 + x dx + \tan^{-1}(x) + c$$

Lol . We Love MATH



CASANDRA UCERO
Augustin Ciobotisan
(MAYA) Mandukhai Khosbayar

FR3CH

5.4 #14: Find the general indefinite integral

$$\begin{aligned} & \int (\csc^2 t - 2e^t) dt \\ &= \int \csc^2 t dt - \int 2e^t dt \\ &= -\cot(t) - 2e^t + C \quad (\text{From Table } \perp / 392) \end{aligned}$$

Vinh

Joan

Mike

Save The Polar Bears

Kristian, Jalisha, Melua

5.4 #22

$$\int_{-2}^0 (v^5 - v^3 + v^2) dv = \int_{-2}^0 \left(\frac{v^6}{6} - \frac{v^4}{4} + \frac{v^3}{3} \right) dv \Bigg|_{-2}^0$$

$$= \left(\frac{0^6}{6} - \frac{0^4}{4} + \frac{0^3}{3} \right) - \left(\frac{(-2)^6}{6} - \frac{(-2)^4}{4} + \frac{(-2)^3}{3} \right)$$

$$= 0 - \left(\frac{64}{6} - \frac{16}{4} + \frac{(-8)}{3} \right)$$

$$= 0 - \left(\frac{32}{3} - 4 - \frac{8}{3} \right)$$

$$= 0 - \left(\frac{32}{3} - \frac{8}{3} - 4 \right)$$

$$= 0 - \left(\frac{24}{3} - 4 \right)$$

$$= 0 - (8 - 4)$$

$$= 0 - 4$$

$$\boxed{= -4}$$

Unit 5.4

Science Buddies

#30 Evaluate Integral

$$\int_1^2 \left(\frac{y+5y^7}{y^3} \right) dy$$

$$\int_1^2 (y^{-2} + 5y^4) dy$$

↑
anti-derivative

$$\left(\frac{y^{-1}}{-1} + \frac{5y^5}{5} \right) \Big|_1^2$$

plug in (2) ~~or~~ (1)

$$\left(\frac{y^{-1}}{-1} + \frac{5y^5}{5} \right) - \left(\frac{y^{-1}}{-1} + \frac{5y^5}{5} \right)$$

$$\left(\frac{(-2)^{-1}}{-1} + (2)^5 \right) - \left(\frac{(1)^{-1}}{-1} + (1)^5 \right)$$

$$(-.5 + 32) - (0)$$

$$(31.5) - 0 = \boxed{31.5} = \text{Answer}$$

THE GROUP: Section 5.5 #2

VIES Mosade
Abzhen E

$$\#2 \int x^3 (2+x^4)^5 dx, u=2+x^4$$

$$\int x^3 (2+x^4) dx$$

$$\begin{aligned} &= \frac{1}{4} \int (u)^5 \frac{du}{4} \\ &= \frac{1}{16} \int (u)^5 du + C \\ &= \frac{1}{24} (2+x^4)^6 + C \end{aligned}$$

$$\begin{aligned} \text{let } u &= 2+x^4 \\ du &= 4x^3 dx \\ \frac{du}{4} &= x^3 dx \end{aligned}$$

h. W. V

betrice

Wilgens

Vuriene

S. 5

6.

$$\int \frac{\sec^2(1/x)}{x^2} dx ; u = 1/x = x^{-1}$$

$$du = -\frac{1}{x^2} dx \quad \text{or} \quad -x^{-2} dx$$

$$du = -\frac{dx}{x^2}$$

$$\int \sec^2(1/x) \cdot \frac{dx}{x^2}$$

$$-\int \sec^2 u du \cong -\tan u + C$$

$$\cong -\tan 1/x + C$$

KICKASS

5.5 #10

$$\int (3t+2)^{2.4} dt$$

$$= \frac{1}{3} \int u^{2.4} du$$

$$= \frac{1}{3} \frac{u^{3.4}}{3.4} + C$$

$$= \frac{1}{3} \frac{(3t+2)^{3.4}}{3.4} + C$$

$$u = 3t + 2$$

$$t = \frac{u-2}{3}$$

$$dt = \frac{1}{3} du$$

Bianca
Stan
Max

Pythagorus

$$14 \int e^x \sin(e^x) dx$$

$$\text{Let } u = e^x \text{ then } du = e^x dx$$

$$\int e^x \sin(e^x) dx$$

$$= \int \sin u du$$

$$= -\cos u + C$$

$$= -\cos(e^x) + C$$

MAT151...

4/28/10

5.5) #16 Substitution Rule:

$$16.) \int \frac{x}{x^2 + 1} dx =$$

$$\left[\begin{array}{l} \Rightarrow \text{let } u = (1 + x^2) \end{array} \right.$$

so

$$du = 2x dx \Rightarrow \frac{du}{2} = x dx$$

$$= \int \frac{1}{u} \left(\frac{du}{2} \right)$$

F(x):

$$= \frac{1}{2} (\ln|u| + c)$$

$$= \frac{1}{2} (\ln(x^2 + 1) + c)$$

Mike Guskung

Jonathan Chen

SECTION 5.5
PROB 22

CIVARC
J. KOHLHEPP
R. D'SOUZA
S. MANCE

#22:

$$\int \sqrt{x} \sin(1+x^{3/2}) dx$$

$$\int \sin(1+x^{3/2}) \sqrt{x} dx$$

$u = 1+x^{3/2}$	$= \int \sin u du$
$du = x^{3/2-1} dx$	$= -\cos u + C$
$du = x^{1/2} dx$	$= -\cos(1+x^{3/2}) + C$
$du = \sqrt{x} dx$	

TEXT
REFERENCE PAGES

6. $\int \sin u du = -\cos u + C$

* ANSWER:

$- \cos(1+x^{3/2}) + C$

Section 5.5

#32

We love math

Kristina

Jessica

Stachana

$$\int \frac{e^x}{e^x+1} dx = \int \frac{1}{e^x+1} e^x dx$$

$$u = e^x + 1$$

$$du = e^x dx$$

$$= \int \frac{1}{u} du$$

$$= \ln |u| + C$$

$$= \ln (e^x + 1) + C$$

$$\int_1^3 (1+2x-4x^3)$$

$$\left(\frac{x+2x^2-4x^4}{4} \right)$$

$$(x+x^2-x^4)$$

$$\left((3) + (3)^2 - (3)^4 \right) - \left(1 + 1^2 - 1^4 \right)$$

$$\left(3 + 9 - 81 \right) - \left(1 \right)$$

$$-69 = \left(1 \right)$$

$$\Rightarrow 0$$

Pablo Espichon
Sam Tosia

Tijuan WZ

Will Arbeit

B.A. 15 B.S

$$\int (y^3 + 1.8y^2 - 2.4) dy$$
$$\frac{y^4}{4} + \frac{1.8y^3}{3} - \frac{2.4y}{2}$$

$$\begin{aligned} \frac{\tan^{-1} x}{1+x^2} dx &= \int u \, du \\ &= \frac{u^2}{2} + C \\ u = \tan^{-1} x \\ du = \frac{1}{1+x^2} dx &= \frac{(\tan^{-1} x)^2}{2} + C \end{aligned}$$

TEAM Diesel

Cannon Payne Stanley Tachez Tyler Ferst